[image: heading]Understanding the Mastery of Mathematics

Reasoning (R) or Green Maths
What does it mean?
Reasoning is the skill of explaining. 

[image: ]What does it look like in Year 4? – We use our reasoning every day!
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Wialker has 190. Hows many do they have ltogethen?

5. Miss Rogers steals 7. how many do- they have
32801+ 1088 now?

2.782 - 2911

O [R Jushifiy answers using esfimafions and, inverse
calculations:

6. Mr. Lockell estimates the answer | 7.
3568 + 509 =000, Do-yow agree: | Grace says that 5129 — 3372= 2257

with, me? because:
“5000-3000= 2000
Explairy your answer. 300- 100=200
70-20 = 50
9-2=7

s0 5129-3372 is 2257’

Do you agree with Grace? Use an
addition calculation to justify your
answer.

[STARS vdlie (S moinated: Tirkers aspirabional; reslient; supportve) T hame
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Is this caleulation correct? Corwince me by
using the irwerse

operdtion:
O [R Tdenfifiy mistakes inv columns addifions and subfractions:

Find, the mistakes i these, calculations: Explain where M Cockelt, wenk
wrong irv using the, column method.

2451 782
+562 -435
8071 353

[STARS valiue (Self-motvated, urken. aspircbional: realient, supportive) I have
shown today:
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